
Year 3 Word Problems 

 

1) Lewis went to the shop and bought a magazine for £3.76, and 

some biscuits at £3.15. How much does he spend altogether? 

 

2) Mia has saved £9.84 in her money box. She bought some new 

swimming goggles at £7.45.     How much money does she have left? 

 

3) Justine is making a drink. She uses 256ml of apple juice and 

282ml of water. How much liquid is in her glass? 

 

4) Sam’s water bottle contains 658ml of water. Sam drinks 389ml 

water during golden mile. How much water is left in his bottle? 

 

5) A train ticket to Cambridge costs £5.86 and a ticket to London 

costs £9.78. How much more does it cost to travel to London? 

 

6) Sasha walks 5.68m as part of a sponsored walk. Her friend James 

walked 7.87m. How far did they walk in total? 

 

7) Wilma needs 565g of flour to make a birthday cake. The bag 

contains 876g. How much flour will she have left over? 

 

 

8) A child’s ticket to the cinema costs £1.25 and an adult ticket 

costs £3.35. 

How does it cost for 2 children and 1 adult to go to the cinema? 

 
 

 

 

 

 

 

 

 

 

 


